
Factorisation d'Exposants (J)
Décomposez chaque exposants en facteurs.

511 =

117 =

1610 =

238 =

1610 =

1110 =

1211 =

1811 =

2311 =

511 =
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Factorisation d'Exposants (J) Solutions
Décomposez chaque exposants en facteurs.

511 = 5 × 5 × 5 × 5 × 5 × 5 × 5 × 5 × 5 × 5 × 5

117 = 11 × 11 × 11 × 11 × 11 × 11 × 11

1610 = 16 × 16 × 16 × 16 × 16 × 16 × 16 × 16 × 16 × 16

238 = 23 × 23 × 23 × 23 × 23 × 23 × 23 × 23

1610 = 16 × 16 × 16 × 16 × 16 × 16 × 16 × 16 × 16 × 16

1110 = 11 × 11 × 11 × 11 × 11 × 11 × 11 × 11 × 11 × 11

1211 = 12 × 12 × 12 × 12 × 12 × 12 × 12 × 12 × 12 × 12 × 12

1811 = 18 × 18 × 18 × 18 × 18 × 18 × 18 × 18 × 18 × 18 × 18

2311 = 23 × 23 × 23 × 23 × 23 × 23 × 23 × 23 × 23 × 23 × 23

511 = 5 × 5 × 5 × 5 × 5 × 5 × 5 × 5 × 5 × 5 × 5
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48 828 125

19 487 171

1 099 511 627 776

78 310 985 281

1 099 511 627 776

25 937 424 601

743 008 370 688

64 268 410 079 232

952 809 757 913 927

48 828 125


